MATHS AND STATS

Long Division Practice

w

99475 = 23 =

9913 =23 =

185058 + 23 =

5221 +23 =

Answers

1.

4325

2. 431
3. 8046

4. 227

5. 23989 = 23 =

6. 145521 + 23 =

7. 118427 =23 =

8. 139863 =+ 23 =

1043
6327
5149
6081
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More long division practice

1. 98465 + 23 =
2. 94265 + 23 =
3. 196348 - 23 =
4. 56104 +~ 23 =
5. 782913 - 34 =
6. 145521 ~ 34 =
7. 688427 - 34 =
8. 139863 = 34 =
Answers

1. 4281.09

2. 4098.5

3. 8537

4, 2439.3

correct to two decimal places
correct to one decimal place

correct to nearest whole number
correct to one decimal place

correct to the nearest whole number
correct to one decimal place

correct to the nearest whole number
correct to one decimal place

23027

4280.0

20248
4113.6
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